[ 1 ] ENGINE MOUNTING FACE

[ 2 ] PTO GROUP MOUNTING FACE

[ 3 JLEFT MOUNTING BRACKET FACE

[ 4 ]RIGHT MOUNTING BRACKET FACE

[ 5 JPUMP MOUNTING FACE

NOTES:

A.PROPORTIONAL CONTROL VALVE OPERATION

1. WARNING - DO NOT CONNECT VALVE COIL DIRECTLY
TO BATTERY/ POWER SUPPLY VOLTAGE

2. OPERATION TO BE PERFORMED WITH ONLY
TWIN-DISC CONTROL SYSTEM MODULES

B. MANUAL DIRECTIONAL CONTROL VALVE OPERATION

1. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
POSITION PUSH TO ENGAGE PRIMARY CLUTCH

2. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
POSITION PULL TO ENGAGE SECONDARY CLUTCH

C. MANUAL DIRECTIONAL CONTROL VALVE MODE SWITCH
1. SWITCH IS NORMALLY CLOSED WHEN MANUAL DIRECTIONAL

CONTROL VALVE IS IN CENTERED POSITION AND OPEN
WHEN LEVER IS ACTUATED FROM CENTERED POSITION

D. UNLESS OTHERWISE SPECIFIED FASTENER TORQUE

E. ALL POINTS AVAILABLE FOR TESTING CODED

F. REFERENCE S930 FOR TWIN DISC REQUIREMEN
PRESSURE AND TEMPERATURE ALARM LEVELS.

2. CURRENT = 20 AMP MAX.

3. FOR WIRING SCHEMATIC REFER TO CONTROL DRAWING

VALUES AS PER S574 STANDARD

PRESSURE PORT

M14x1.5 METRIC PORT
CONFORMS TO ISO 6149

©13.5 DRILL THRU

8 HOLES EQUALLY SPACED

USE GRADE 8.8 PROPERTY CLASS
SCREWS PER ISO 898-1 AND
TORQUE PER S574 TO SERVICE
MANUAL VALUES

INPUT SPEED SENSOR PORT

5/8-18UNF-2B TH'D.
TARGET WHEEL 54 TEETH

G

. 2XM16X2.0 -6H ¥ 32.0

$552.45

OR

©»511.112+0.065

FLYWHEEL OUTLINE—

USED FOR LIFTING MARINE

/OIL LEVEL GAUGE

I TRANSMISSION ONLY. lﬁ
EQUALIZE LOADS ON TAPPED o

HOLES TO LIFT MARINE

TRANSMISSION

—
194.8

\
| N\
\
R
\

|
SECONDARY SOLENOID/

ENGAGES CLUTCH ON )
THE SECONDARY SHAFT

»438.2 B.C.

M22 x 1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 54 +5Nm

S .- 0

Ly g 11 g o

R @)

| ’!'

. J ’ OIL FILL PORT
|

MUST CONFORM TO  y

SAE J620 NO. 355

SAE#1 HOUSING
MOUNTING FACE

SEE NOTE A ) »
= || ———PRIMARY CLUTCH
PRIMARY SOLENOID PRESSURE PORT
Ao P TN M12x1.5 METRIC PORT
THE PRIMAR =1 |[omm  CONFORMS TOISO 6149
-- p= TIGHTENING TORQUE 16+1.5 Nm
. . =
SECONDARY CLUTCH 15 i 7 A: ’
PRESSURE PORT P - -~ |
M12x1.5 METRIC PORT el———""
CONFORMS TO ISO 6149 - L =S
TIGHTENING TORQUE 1641.5 Nm l Em__.g | =N ‘ \EE%%%\EEIIDUJ&P(SECOND)
— M14x1.5 METRIC PORT

@ T: U/

TIGHTENING TORQUE 20+2 Nm MUST CONFORM I CONFORMS TO ISO 6149
TO SAE J617 SECTION A-A 1 ‘ T 1 TIGHTENING TORQUE 20+2 Nm
| A . - 772.92 -
TEMPERATURE PORT T ®
M14x1.5 METRIC PORT BREATHER
CONFORMS TO ISO 6149 PRIMARY CLUTCH(FIRST) |
TIGHTENING TORQUE 2042 Nm |\P/|§ES18éJ|\R/|EETP|S|§TPORT
- x1. 227. -l 480. -
SECTION C-C C%NFORMSGT%ISS 614;% , 99 80.60 -
DIRECTION TIGHTENING TORQUE 20+2 Nm (1]
L e ¢
OF ENGINE ROTATION
| MAIN PRESSURE PORT ACTUATING PRESSURE BORT
CONFORMS TO 1SO 6149 SEE NOTE "C" 5 ?3"(1)%:1 (-§5R'\I<'AESTTR(')CI ggg 49
CONNECT OIL PRESSURE ) 2IRN WATER OUT _ " " LUBE PRESSURE PORT § A F|GHTENING TORGUE 16£1.5 N
GAUGE LINE HERE. - / A\ | oW o W M14x1.5 METRIC PORT 0 1.5 Nm
TIGHTENING TORQUE 16+1.5 Nm | o @ | ©2 32 CONFORMS TO ISO 6149 \
| | 87 &7 TIGHTENING TORQUE 20+2 Nm
MANUAL DIRECTIONAL S = ~ ~ R
CONTROL VALVE . S
5 mm TRAVEL FROM CENTERED . | . OAN=]
POSITION (EACH DIRECTION) i [ 1 g
SEE NOTE 'B' H I . WATER IN
! |
OIL FILTER R ©40.0 /
29.0 mm CLEARANCE REQUIRED 2 PLACES RNAE
| TO REMOVE FILTER CANISTER. ' :
‘ TIGHTEN FILTER CANISTER UNTIL IT STOPS PRIMARY ;
5 LOOSEN CANISTER 1/4 TURN. SHAFT G § |
<©:
12X @ 12.0 THRU e
Qa EQUALLY SPACED i -]
&> B
AN
\ l | 1 ‘ S i |
© R _AJ
| S $530.2 |
r 0 B.C. REF. ]
- E—
So * = e
= <
~ | i |
I I — < T :
L ssilsIRE 4 21.3 mm CLEARANCE < -
= REQUIRED TO S
] IF }fy REMOVE PUMP !
Ol 7 CENTER OF B
|21/ E— - - SECONDARY CLUTCH(SECOND) GRAVITY & T e ;;T
o | PRESSURE PORT 3 = 4 \ SHAFT @
i ] IR I VU WA o5 o M14x1.5 METRIC PORT | ‘
g Uy CONFORMS TO ISO 6149 \
QQ e ] TIGHTENING TORQUE 20+2 Nm :
——— — T \ \
OIL STRAINER N LB =
__15091| M12x1.75 THREAD, 12.0 DEEP 4141 —=—n A OIL DRAIN PLUG o
TYP. CENTER OF 100 mm CLEARANCE REQUIRED M33x2.0 THREAD ™
CRAVITY TO REMOVE OIL STRAINER 979.40 L 20320 — |  CONFORMS TO ISO 6149 3
114.30 101.71 SECONDARY CLUTCH(FIRST) TIGHTENING TORQUE 88:+8 Nm eh - 5027 —
TYP. TYP. PRESSURE PORT 15 mm CLEARANCE REQUIRED 2 '
M14x1.5 METRIC PORT TO REMOVE PLUG N
CONFORMS TO ISO 6149 ®190.5 H.C. o
306.31 TIGHTENING TORQUE 2042 Nm
DIRECTION OF OUTPUT
FLANGE ROTATION OUTPUT SPEED
(R.H. ENGINES DRIVING SENSOR BRACKET
THRU PRIMARY CLUTCH) TARGET WHEEL: 64 TEETH
M16X2.0 -6H TAPY 24.0
12 HOLES (6 EACH SIDE)
USE ALL 12 HOLES A | ECNWF-75164 [01/06/2017
FOR MOUNTING UNIT. @ REV CHANGE NO. DATE
USE GRADE 8.8 PROPERTY CLASS S -
CAPSCREWS PER ISO 898-1 EQUIPMENT SHOWN: FIRST USE ASSEMBLY:PX12870 . 274.68 : :
AND TORQUE TO S574. “MGX-5126A PER PX12870 ASSEMBLY IRSTUSEWODELIMGX-5126A | REE . T 12/10/2015
IMILAR TO: WR2 : kg—mZ \,/ I\, SCALE:
©22.6 DRILL THRU - Eé§0%1 I/—|SAA\FIQEN3IESSSSC(FS-PRIE)228'I-'EI\R/IP SENS) o g M ET R C HEAT TREAT. 1:4 RACINE, W1 53403 - USA
8 HOLES EQUALLY SPACED - VN AGHINED DIMENSIONS DRAWN BY:
- MOUNTED FILTER ASSEMBLY D OIS PM
SO D DO AN G R MTD. HE | BuEm e oo e | X W8 [PEcReToR T 10265978
_ - - . \ ALL ANGULAR TOLERANCES #1° INSTALLATION : : :
VIEW B-B - 127-4, 32-4 HYDRAULIC PTO s pomer ST TR O e | SR TSN MGX-5126A v B A1 T or 1A
F E | D | C | B | A 1025420W Rev. A




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View11
	Drawing View14
	Section View C-C
	Section View A-A


